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'(d) 2, 2-Dimethyl butarlm("m;l (b) 2-carboxyl- _2-met! ;3/] hutailo v
() 2-ethyl-2-methyl prOP““" ¢id () 3.methyl butane carbory1io 447

el
actlon ArN,CI” M‘L\rcl +N, +CuCl is named a3 °

.(b) Gatterman reaction
(d) Carbylamine reaction
is Stabilised by :

4., There
v(a) Sandmeyer reaction
(¢) Claisen reaction

5. ~ Tertiary structure of protﬁm :
(a) Disulphide bonds (b) Vander Waal's forces -

(c) Hydrogen bonds o (d) All oftheabove
Hardness of water is estlmated by simple titration thh Na, -EDTA because :
~ (a) Ca?ions from stable complexes with EDTA.
~ »(b) Mg* ions from stable complexes with EDTA.
(c) Ca* ions from unstable complexes with EDTA.

'(d) Both (a)and (b) .
Which of the foIlowmg molecules has a chiral centre correct]y labclled with as

6.

7.

asterisk ( *) e . ¢, ) o R N o

(@) CH,CHBrCH, - '(b) CH,CHCICH,Br
- (c)-CH, CBr,CH e (d). HOC}LCH(OH)CH OH

8. Monochlormatlon of toluene in sunlight follwed by hydroly51s with aq. NaOH
yields : ‘
J R e e e
(a) o-cresol : (b) m-cresol {\

_ } =)

(c) pécfesol ‘(d) Benzyl alcohol

9 Inthereaction :
H,C-CH=CH-CH, -CH, - _CN ff)ﬁf;g—gml >

Ident1fy the product formed in the glven reactlon :
@ CH—CH—CHCHCHCN
) H.C———CH-'CH—CH?(,HZCHO
= e} Hjc_cHz__CHZ__CHZ-—CPg—CHO
(d) None of the above - T
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For mﬂiﬁms mmﬁwr 13 #5716, two statements are Jven on S
the other labelled 23 < Reason. Select the correct 20SW

5 35E crtiom 284
v codes (A, (B): (C) znd {D}j as given below.
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{z) Zin = 2 ssertion (A) 20 ?M/-;
rp -~ r..«?’ﬂ,—,aaq‘ % ”_},
"" ,.\,..z::ifw‘ ) : e
zd Rezsin = troe but Rezson (R s not 2 OOmes
< Dot Aesertion (s 53 are e put. Ljis
{5y BohAssen 1{Ajznd R v Rj 7 o
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(¢} Asserion(f)istuc e, Dt Reas jisfz
(&} Assertion {A) is Else, bt Rezson (R 15 true,

. Asgertion (A) 2 5 C2TDO] vizse jon (RCOQr ) is stzbilised by TESOnance o 2 Zreale
fr/.:maf.:@r’% to the acid (RCOCH).

.,_,._,m\

o 3
~ '/ Besvm(R):The wm;»mﬂfg mﬁmv afRLO{r are equiva sl vnmie&
ARCOCH zrendh.

. Assertion (Ay: Like brosmination ﬁm b‘i’%’iﬁ’*’ ionof p;mm is zlso caied ‘
> ﬁwmﬁcg«gm:ﬂm’ﬁ@&é '
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5 g@gm '3 SE iﬂmﬁ acid Wm%% the bf(;r’iiﬁfﬁ molecule.
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15, Assertion (A) : The solubility Ofalde
O\ Nerease in the gjyze ot'alk}’l grotip. ,
1 Reason (R) : Al groups ar€ Clectr repelling groups
o Assertion (4) ; e TUPAC gy, of [P{(NH,),CI(NO,)] is diammine

Reason (R) : The ligands are Placeq i, the alphabetical order, then metal with
- OXidation sate. ' o

wi
hydes and ketones in water decréases i

SE
5 o | 2LCTION-B
. 1te the mechanism of the followin g reaction—

nBuBr+KCN—2210 1 b on
(b) With the help of resonating structyres explain the effect of presence of nitro

group at ortho position in chlorobenzene. - 2

L 3 | OR |
o /(?f‘/Haloalkanes react with KNO, to form alkyl nitrites, while AgNO, forms

' a/n{troalkanes' as chief product. Explain. - ot ‘
- «(b) Although chlorine is an electron withdrawing group yet it is ortho, para
.~ directing towards electrdphilic substitution reaction.
'18. (i) Givereason: ; - i iep
| .~ TheC-Obond length in phenol is less than that in methanol.
2 w rite short note on ‘Hydroboration’. ’ _ »
19. Arrange the following compounds in the increasing order of thejr property
" indicated CI-CH,-COOH, F-CH,-COOH, CH,COOH (acidic character) |
5 Why are a-hydrogen atoms of aldehydes and ketones are acidic innature. 2
- 20." ,(;:j/ Arrange the following in the increasing order of basic strength :
. CHNH, CHN(CH,), (C;H),NHand CHNH,

- ;ﬂx/%omm: Anne o Benzene g 5 2.

. @ eficiency of which vitamin causes xeropthalmia and cheilosis.
: C@ Define denaturation with example.
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# @) Arrange (e el
o ‘ ¢ the [U”U\\ll) “l’“tlndq  the i mumf%mg’ order of the properly
mdmuml ¢
a4 ‘
() p. Bitropher), cthay

1], l‘hc: idic character)
10l (acidic ¢
(i) pro mnul N % (

Topane, * PYOPanal evoilin h0int)
(b) Wiy docy Wal (boiling |

sllmn:.u..lmn orQy IONu Wlm((,,[qu)1 MllrgWuZ -methyl propene
..md not ((‘ll ) (e

-0~ C‘H S
OR
A% hat happeng when :
() lhuml reacts With NaOI gy CO, inacidic ‘medi-um.' | H< .
(b) Ethanol reqeqg with CH COCV[’yridirie. . ‘ e Ye
(©) Anisole reacts with HJ, Bk 4
vac, reasons for the followmg, 2 statements ¢

The C—Cl bond lengihin chlorobenzenc is q‘horter thzm that in CH Cl
Qr)/Nuo-pcntyl chloride does not follow

I’he SO]Ubllll}’ of haloalkancs in wate

SN? mcohanmm

ris vcry low.

Give chemical test to dnstmg,u:sh between Elhanql and | Benzaldehyde with

Ny peov
observation. 4
Show how each of the followmg compoundb can be converted to benzojc
acid ? * ! 3

4 (1) Benzamide ‘ (ii) Propyl benzene

25 lec e: son:

”1' o\"\-

4 Aﬂylatlon of aniline reduces 1t activating effect,
’(,;fj/ Aniline does not undergo Frieda] erﬁ reactlon

- (ijiy Write short note on Coupling reaction. s i :
a) What happens when maltose jg hydrolysed ?

(b) Giove2differencesbetweenDNA andRNA. o -ty s
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9 Draw the optical isomers of [C/ ) -
2%. Ay Virite the reactions ofWilliﬂT"’ ‘_;.;w_ is of 2-Ethoxy-3- methy] pentane
starting from Ethanol 0d 3] pemgr, 901
}/f Preparation of ethers by acid detydr ., ion of secondary or tertiary - alcohols u;,;a
. 130t a suitable method, Give rezs Yo . 3 3
SECTION.)
The folluwing questions are ease baseq questions. Read the case carefully
and answer the questions that folloy,

The polarity of C-X% bond of alkyl halides is responsible for their nuc lcophxhc ol
substitution, climination and their reaction with metal atoms to form ;
organometallic compounds. Alkyl halides are prepare by the free radica 3
halogenation of alkanes, addition of halos gen acids to alkenes repldcemento___,ﬁm
O proup of alcohols with | alogen using phosphorus halides thmnyl chlondcl‘ |
or halogen acids. Aryl halides are p}cpdrcd by electrophilic substituion of azmes
Nucleophilic substitution reactions are categorised into SN’ andSN’onthcbams

of their kinetic pr:;pu‘ru. Chirality has profound role in understanding SN' and

SH? mechanism.

Answer the following questions—

3

(1) What happens when bromo bcnwnc 15 treated with Mg in the presence of dry

cther ? 4
(ii) Which compound in cach of the following pair will react faster in SN‘ reaction
with O 7 Give reason. »

(a) (CIH,),C-CI OR CICI
(ii) Write the cquations for the preparation of 1-iodobutane from
(a) T-chlorobutane (b) But-1-cne
OR

(i) Write the structure of the major products—
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- somcesofenergy for rmiztutsals, 13 it by thes bryhidhyfsis o simsehl, Ypimonsiis
. &mEaceessory food factors tegtiited 1y s disd,
- Proteins are the Polymets of . Atiitits Ay AHA YTt YIRS St 4 £
 dynamic ¢ functions iny the OTgatiishs, o Ty _
Ans / "‘tbefoﬂawmvm S s
mﬂmﬂéﬁwféfMﬁﬂM%mﬁzwhﬂ%f
does it indicate 7
) Wy cannot vitutrin C be stoped iﬁ it by v ,
(c} Write the reactions involved viss . Gt is trestad vty +
(i) HCN (ii) Br,wrter

: OR
( o} GIVeZ dtfferenceﬁ betoreen fibrotis aid glehnilm ;f#ﬂm‘m
; e SECTION-E - y W%,f;
£ ”‘J s, &8 ﬁ’
-"'(;) Write the pr’OdHCib of the foﬁwmw 1 an::ézef,fﬁ—:; Py liy
| 70 SRR

) {__ =0+ HNOH s
{b) 2CH,CH O+ gquu. NaOH «——
(&) CH,COOH.

Yd
Hyr /

fﬁ) Give reasons - « i
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An organic compound A C "6 On reatment witn dilute H SO, containing
mercuric sulphate gave compoUid Bs ;o compound ‘B’ can also be obtained -
from areaction of benle“ewlﬂ] “Cetyl chloride in presence of anhydrous AICL
"B’ on treatment with L, in8q NaOl gives Cand ayellow compound ‘D’
Idumiy A,B,C ;mdD Give the C]lellllC'll reactions involved. ‘
[NiCl]* is paramagnetic, while [Ni(CO) o] 1s diamagnetic though both are .
tetrahedral. Explain usmg valence bond theory. 2+2+1
(i) Draw the geometrical isomers of [PtCL, (en) o1 ion. ‘ '
(iii) When 1 mole of CrCl, 61-120 18 treated with excess of AoNO 3 moles of -
- AgCl are obtained. What is the formula of the complex.
OR

© () For the complex ion [Fe(en)2C1 1% write the hybrldlsatlon and magnetic

behaviour. Draw.one of the geometrical i lsomer of the complex ton whichis
optically active.

32,

(i) On'the basis of cfystal field sphttmg energy theory, write the electremo- )
eonﬁguratlon of d*in terms of 17 and egin an octahedral field when
(@ A,5P _-: S (b)A<P

33, (i) zf/l?.thappens when ; ' '
S RO N-Ethyl ethanamme reacts with benzene sulphonyl chloride 9 ? .
(b) Benzyl chloride j is treated with ammonia followed by the reaction Wlth- :

L MR et i — A NHy
chloromethane Pl g M", e p‘“fgm\ meet guny”
(c) Aniline reacts with chloroform in the presence of alcohohc potasslum
ey Wy ’ otk
hydroxide ? iy %( Ly bR
(i) How will you convert (any 22— NV 1x5=5
 (a) Methanol 1nto Ethanmc acid Mgt it emgchcosrt ‘

(b) Hexanenitrite into 1- -amino Pentane PNLY
(c) Phenolto N~pheny1ethanam1de ;

ri2 (d) Chloroethane to Methanamme = :
Tl R CH L TREN

CH K 26\ Y }f\jH )

SRR 342=5 -



